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Problem 1. Let D be the solid bounded below by the cone z = 1/z2 + y2 and above by the plane
z = 3. Make a sketch of D and set up the triple integral [f[,, f(2,y,2)dV in two ways: using (1)
dV = dzdydz and (2) dV = dzdydz.
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Problem 2. Let D be the region bounded by z = 0,y = 0,z = 0, and z = 2 — y/3 — 2z/3
(shown below). Set up the triple integral [/, dV" using the following choices of dV: (1) dzdydz,
(2) dedydz, and (3) dzdzdy.
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Problem 3. Let D be the region shown below. Set up the triple integral [f[,,dV using the
following choices of dV: (1) dzdydz, (2) dzdydz, and (3) dydzdz.
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Problem 4. Let D be the region shown below. Set up the triple integral [[[},dV using the
following choices of dV: (1) dydzdz and (2) dzdydz. Hint: the second setup is trickier than
previous problems; you’ll need to write it as a sum of two triple integrals.
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